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Cut the spaghetti pieces in the lengths provided on the sheet of paper.

Attempt to make a triangle out of the trio of segment lengths provided.

If you are able to make a triangle, decide if it acute, right or obtuse.

Fill out the chart with the information your team 

	Segment Lengths (cm)
	Possible triangle? (Yes or No)
	Acute, Right or Obtuse?

	5, 12, 13
	
	

	7, 5, 13
	
	

	10, 4, 3
	
	

	4, 4, 4
	
	

	1, 2, 3
	
	


Make a conjecture as about what the relationship between side lengths must be in order to form a triangle.

Support your conjecture.

Two sides of a triangle measure 6 centimeters and 15 centimeters. If the triangle is obtuse, what would have to be true of the third side in order to form a triangle?

If two sides of a triangle measure x and y units, what would have to be true of the third side in order to form a triangle?
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